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Test 1

Directions : There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B),

9.

10.

11.

12.

13.

14.

15.

16.

C) and D). Choose the ONE answer that best completes the sentence. Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center.

. Today, major new products without conducting elaborate market research.

A) corporations hardly introduce ever B) corporations hardly ever introduce
C) hardly corporations introduce ever D) hardly corporations ever introduce

. What would happen if the director knew you felt that way?

A} do you suppose B) you suppose C) will you suppose D) you would suppose

. I enjoy travelling I don’t have to drive too far.

A) lest B) unless C) but D) if
might be expected, the response to the question was very mixed.
A) As B) That On D) What

. He had bought a second-hand book. But the content is

A) worthwhile B) worth C) worthy D) worthless

. Lianpo was aged. Has he been able to eat?

A) still B) yet C) else D) also

. The farmers wheat in hot sun.

A) wrap B) pack C) bind D) wind

. The teacher told the students that the earth round the sun.

A) moves B) moved C) has moved D) had moved
Mr. Jone will ask you if your operation .
A) was successful B) is successful C) would be successful D) were successful
The iron boxes painted black in his mill feel heavier .
A) than actually they are B) than they actually are
C) as are they actually D) as they are actually
The match would be postponed if tomorrow.
A) it were to rain B) it rains C) it was to rain D) it will rain
Please give my sincere to all the members of your family.
A) regardings B) regarding C) regards D) regard
Right at start, the earth is , then the house is , finally heard of the town is.
A) quaking, shaking, falling down B) shivering, stumbling, pulling down
C) trembling, shaking, collapsing D) rumbling, crumbling, stumbling
You out yesterday without an umbrella. No wonder you caught cold.
A) mustn’t go B) couldn’t have gone
C) mustn’t have gone D) shouldn’t have gone
It is essential that he that contract by the end of this month.
A) sign B) signed C) had signed D) will sign
With her do this, she will have no difficulty talking her parents into accepting her decision.



17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

28.

29.

30.

A) me helping B) I help C) mine helping D) my helping

Human development and distribution have been controlled to an important degree by the changes in climate that

occurred the Glacial period.
A) while B) during C) for D) since
I wish [ longer this morning, but 1 had to get up and come to class.
A) could have slept B) slept C) might have slept D) have slept
We wanted to spend we could in the fields rather than around the conference table.
A) as many time as  B) as much as time C) asmuch time as D) as many as
All of the books, without those which published recently should be on sale.
A) apart from B) except C) except for D) excepting
deserves the award will certainly get it.
A) Who we think B) Whoever does C) Whoever we think . D) Whoever do we think

A foreign language in serving the people, we should do our best to have a good of it.
A) being a useful tool, command B) was a useful tool, catch

C) to be a useful tool, grasp D) having been a useful tool, master

Over a large number of trails, the probability of an event’s is equal to the probability that it will not oc-
cur.

A) to occur B) occurring C) occurred D) about to occur

Last week he promised that he today, but he had not arrived yet.

A) would come B) will come C) is coming D) would have come

He came to the party, he hadn’t been invited.

A) in case B) in spite of C) even D) although

Anything that is dropped falls to the ground, pull by the force of .

A) pressure B) promotion C) explosion D) gravity

I can not decide whether to go, or because of the bad weather forecast, at home.

A) staying B) to stay C) whether stay D) I'll stay

John regretted to the meeting last week.

A) not going B) not to go C) not having been going D) not to be going

I do not allow in my room. And I even do not allow my wife to smoke either.

A) smoking B) to smoking C) smoke D) to smoke

They in spite of the extremely difficult conditions.

A) carried out B) carried off C) carried on D) carried forward



Test 2

Directions : There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B),

10.

11.

12.

13.

14.

15.

16.

17.

C) and D). Choose the ONE answer that best completes the sentence . Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center .

. In some countries, is called “equality” does not really mean equal rights for all people.

A) which B) what C) that D) one

. It never to me to ask Sally for help.

A) happened B) arouse C) took place D) occurred

. I have no objection his staying in the library as long as he keeps silent.

A) of B) to C) in D) over
helps in studying special subjects.
A) When you read technical books B) To read technical books
C) Reading technical books D) Having read technical books

. In the information society, computers are to communication and human relationship.

A) indispensable B) indivisible C) inseparable D) incredible

. Each time would come over, my father, dying of cancer a month ago, would play the tape “I will Al-

ways Love You”.
A) sons of us B) daughters of us C) we kids D) our kids

. In the course of a day students do far more than just classes.

A) attend B) attended C) to attend D) attending

. Fructose is a monosaccharide sugar that is much sweeter

A) than cane sugar does B) does cane sugar C) cane sugar D) than cane sugar
we have finished the course, we shall start doing more revision work.
A) For now B) Now that C) Ever since D) By now
What you have done is the doctor’s orders.
A) attached to B) responsible to C) resistant to D) contrary to
superstitious beliefs about the mandrake plant.
A) People have had long B) Have people long had
C) People have long had D) Long have had people
You can never use my tape recorder. time should you touch that machine.
A) At no B) At any C) Any D) No
There were no tickets for Friday’s performance.
A) preferable B) considerable C) possible D) available
I'll give my books to needs them.
A) any one B) those C) whoever D) who
They decided to chase the cow away it did more damage.
A) unless B) until C) before D) although
The last time we had a family reunion was my brother’s wedding ceremony four years ago.
A) in B) at C) during D) over
Some members of the staff couldn’t handle Murray’s condition hard they tried.
A) when B) although C) though D) even if



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

A man'’s life in some way depends on a supply of blood.

A) continual B) real C) continuous D) immediate

I've been asked to leading the track team when Jenny is retired.

A) take away B) take to C) take over D) take in

There are housing problems in the city, has grown rapidly.

A) the population of whose B) which of the population

C) the population of which D) whose of the population

These birds have small wings they can not get into the air even if they try.

A) the same, as B) so, as C) such, that D) as, as

Marco Polo was the first European to visit Asia and left a{n) of his travels.

A) description B) definition C) standpoint D) outlook

Feeling after his tiring long journey, the old man fell asleep on the train.

A) pathetic B) miserable C) weary D) outrageous

Although he had looked through all the reference material on the subject, he still found it hard to understand this
point and her explanation only to his coufusion.

A) extended B) amounted C) added D) turned

No one else can figure out such a problem except the who was sent into exile.

A) man concerned B) concerned man C) man responsible D) man concerning
It was nine years ago Sir Alfred returned from America.

A) when B) then C) that D) since

After the Arab states won independence, great emphasis was laid on expanding education, with girls as well as
boys to go to school.

A) to be encouraged B) been encouraged C) being encouraged D) be encouraged
The rain was heavy and the land was flooded.

A) consequently B) continuously C) constantly D) consistently

The althelete, together with his coach and several relations, to the Olympic Games.

A) is travelling B) are travelling C) were travelling D) have travelled

The of blood always makes him feel sick.

A) sight B) view C) look D) form



Test 3

Directions : There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B,
C) and D). Choose the ONE answer that best completes the sentence. Then mark the corresponding let-
ter on the Answer Sheet with a single line throngh the center .

1. the work is too heavy for you, I suggest that you it.
A) As, not apply for B) Since, apply not for
C) Even if, no apply to D) For, not apply to

2. We have a memorial service every year lest our debt to those who died in battle.
A) should we forget B) we shall forget C) our forgetting D) we forget

3. “I'm getting fat.”
A) If T were you, I'll eat less B) If I am you, 1'd eat less
C) If I were you, I'd eat less D) If you were me, I'd eat less
4. Most sites on the World Wide Web adhere to HTML standards and, because HTML is easy to use, the World
Wide Web has grown rapidly.

A) abide B) comply C) conform D) stick
5. The basic city-planning document is a comprehensive plan that is adopted and maintained with regular revisions.
A) partial B) martial " C) overall D) inclusive
6. Probably no man had more effect on the daily lives of most people in the United States Henry Ford, a
pioneer in automibile production.
A) as was B) than was C) than did D) as did
7. For several years, the big cities of the world have been facing transport problem.
A) a grown B) to grow C) a growing D) grown
8. My wife said in her letter that she would appreciate from sometime.
A) to have heard B) having heard C) to hear D) hearing
9. She'd be better company so much.
A) unless she didn’t complain B) unless she complained C) if she didn’t complain D) if not
she complained
10. I could never put up with such if I were running an office.
A) unefficiency B) imefficiency C) inefficiency D) enefficiency
11. It is highly probable that there a number of systems resembling our own solar system.
A) is B) include C) exist D) lay

12. Younger generation of musicians found the music style too rigid, they preferred a more spontaneous and variable
musical expression.
A) inflexible B) fluid C) persistent D) resistant
13. For ill or disabled people, the telephone became an indispensable link to the cutside world.
A) beneficial B) requisite C) profitable D) superb
14. It is imperative that the incident be thoroughly investigated and the murderers be severely punished.
A) critical B) vital C) significant D) urgent
15. Computer networks, multiple computers linked together, are particularly vulnerable to computer crimes.

A) immune B) subject C) inclined D) superior



16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

He ran away lest he

A) should be seen B) would be seen C) was seen D) is seen
would be a fairly long speech in a play is often presented as a recitative in opera.
A) That B) There C) It D) What
These new curtains don’t your carpet.
A) go into B) go with C) go after D) go by

The final months of the politician’s life were marked by illness and in vain attempts to secure the cooperation and

support of his opponents.
A) conceited B) humble C) deceit D) unfruitful

Although some commentators may intentionally distort fact, others may present it as faithfully as objective ob-
servers.

A) deceive B) disguise C) conceive D) retort

Scientists say it may not be five or ten years it is possible to test this medicine on human patients.

A) since B) before C) after D) when

Horace Pippin, wrist and arm were hurt badly in the First World War, neverthless became an out-

standing artist.

A) that B) whose C) for whom D) of which

Certain layers of the atmosphere have special names .

A) which indicated their character properties B) whose characteristic properties are indicating

C) what characterize their indicated properties D) that indicate their characteristic properties
in leaves but also in egg yolk, in which it is the principal yellow coloring matter.

A) Not only lutein occurs B) Lutein, occuring not only

C) Lutein, which not only occurs D) Lutein occurs not only

She always says nice things to our faces, she ofter speaks ill of us behind our back.

A) only B) oppositely C) against D) but also

We were not listening nor watching, we were sleeping then.

A) we were B) else C) were we D) were
is known to the world, Mark Twain is a great American writer.

A) That B) Which C) As D) It

The dealer told me how much he was prepared to pay for my car and I could have the money without

delay.

A) on which B) / C) that D) for which

Finding a job in such a big company has always been

A) under B) over C) above D) beyond

I'd rather read than watch television; the programs seem all the time.

A) to get worst B) to be getting worse C) to have got worse D) getting worse



Test 4

Directions ;. There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B),

9.

10

11.

12.

13.

14.

15.

16.

17.

C) and D). Choose the ONE answer that best completes the sentence. Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center .

. Evidence came up specific speech sounds are recognized by babies as young as 6 months old.

A) what B) which C) that D) whose

. Because the emperor had no legitimate , his empire disintegrated after he died.

A) heir B) descendent C) predecessor D) forefather

. Far from imitating imperfect nature, the poet creates an world of the imagination where virtuous heroes

invite admiring readers to imitate them.
A) ordeal B) ideal C) stainless D) desirable

. Videodiscs are used primarily in the industry to store and play movies and in education to contian infor-

mation such as an encyclopedia.
A) recreational B) reconstruction C) pastime D) entertainment
the ball at a speed of about 5 a second, it would not fall back to the ground.
A) Should we throw B) We should throw C) If we throw D) Throwing

. Mr. Chairman moved that the recommendation for discussion.

A) will be postponed B) postponed C) be postponed D) was postponed

. He my motion that I moved at the meeting.

A) agreed B) approved with C) accumulated D) seconded
the station, the rain had stopped.
A) Before he didn't reach B) Before he reached
C) Until he didn’t reach D) Until he reached
The match between Chicago Bull team and Western Jass team is telecast.
A) alive B) living C) lively D) live

. In the living-room laid a carpet.

A) beautiful large green Chinese B) large green beautiful Chinese
C)Chinese large green beautiful D) beautiful green Chinese large

If something to be free, people don’t feel responsible for how they use it.
A) is appearing B) will appear C) appears D) has appeared
She was so ill that she had o work.

A) leave for B) leave out C) leave over D) leave off

The curtains have because of the strong sunlight.

A) fainted B) lightened C) weakened D) faded

The library books you borrowed are next Monday.

A) overtime B) overnight C) pastime D) due

The teacher a difficult point by reference to examples from current life.
A) depicted B) illuminated C) uncovered D) unveiled

We only have dinner parties occasionally these days.

A) very B) much C) quite D) rather

Down and up



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

29.

A) the rain came, the umbrellas went B) came the rain, went the umbrellas

C) the rain was coming, the umbrellas were going D) had the rain come, the umbrellas went

If we are blind to this, we shall make .

A) the gravest imaginable error B) the gravest error imaginable

C) the most imaginable grave error D) the gravest error of imagination

Have you noticed how little there is between the seats? If you are tall like me, that’s no for
you.

A) gap, place B) break, area C) space, room D) distance, blank

she first heard of the man referred to as a specialist.
A) That was from Stephen B) It was Stephen whom
C) It was from Stephen that D) It was Stephen that
Some people can eat what they like and get

A) no any fat B) not a fat C) no fatter D) not fatter

It is prohibited by law to mail through parcel post any merchardise that might prove in transport.
A) dangerous B) with danger C) dangerously D) to the danger

New students will come to our school next week.

A) sometimes B) some time C) sometime D) some times

Wars, political turmoil, and natural disasters drive people away from their homeland.

A) strifes B) conquest C) rebellion D) unrest

Supporters of standardized tests contend that test scores provide a valid measure of academic aptitude and that the
exams offer a reliable way to impartially compare students from a variety of social and educational backgrounds.
A) contradict B) concede C) exclaim D) maintain

That girl seemed hounded by Satan had been going round and round.

A) charming B) charmed C) charm D) to charm

New studies show that dinosaus in an explosion from planets of outer space hitting to the earth.

A) could be ruined B) must be ruined C) might be ruined D) should be ruined

. You all those calculations! We have a computer to do that sort of thing.

A) needn’t have done B) mustn’t have done

C) shouldn’t have done D) can not have done

Nowadays a large number of people buy flowers instead of real ones.
A) false B) fake C) sham D) artificial

. The doctor me that the discomfort would disappear in a couple of days if I followed his advice.

A) assured B) insured C) ensured D) confessed



Test §

Directions ;: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B),
C) and D). Choose the ONE answer that best completes the sentence. Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center .
1. “Where should I send my application?”
“The Personnel Office is the place

”

A) to send it B) tosenditto  C) sent it to D) for send it
2. It’s a hard for a poor man to keep his wife and children wellclothed.
A) labor B) work C) duty D) job
3. The survival of civilization as we know it is threat.
A) within B) under C) towards D) upon
4. the advances of science, the discomforts of old age will no doubt always be with us.
A) As for B) Besides C) Except D) Despite
5. The new building all the other buildings nearby.
A) dwarfs B) distorts C) deserts DJ depresses

6. Peter didn’t want to attend their wedding ceremony and Jane didn’t
A) too B) also C) either D) likely

7. He is a versatile writer, he writes novels, poems and plays

A) together B) as well C) in addition to D) beside
8. Graduates have found it to go abroad for further study.

A) profitable B) interesting C) advantage D) beneficial
9. The scheme to build a new skyscraper has fallen for his bad decision.

A) out B) through C) down D) off
10. Jestin could be very attractive woman but she to her bearing.

A) attention B) attentions C) pays no attention D) pay no attention
11. Courage is one of the of good soldiers.

A) quantities B) abilities C) qualities D) capacities
12. I'd rather you about it for the time being.

A) don’t think B) didn’t think C) would not think D) had not thought
13. Tungsten, a grey metal with the » is used to form the wires in electric light bulks.

A) point at which it melts is the highest of any metal
B) melting point is the highest of any metal

C) highest melting point of any metal

D) metal’s highest melting point of any

14. 1 appreciate to your home.
A) to be invited B) to have invited C) having invited D) being invited

15. Global is undergoing progressive deterioration through destruction caused by human beings.
A) circumstance B) condition C) environment D) surrounding

16. I can’t find my spoon, I must have it in the dining hall.
A) lost B) left C) forgotten D) put

17. The atmosphere is denser near the surface of the earth than .
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19.

20.

21.

22.

23.

24,

25.

26.

27.

29.

30.

A) it is far away B) further away from it C) denser farther away D) is farther away

She never laughed, lose her temper.

A) or she ever did B) nor did she ever C) or did she ever D) nor she ever did
It is work of art that everyone wants to have a look at it.

A) so unusual B) such unusual C) so an unusual D) such an unusual

student with a little common sense should be able to answer the question.
A) Each B) Any C) Either D) One
[ want to buy a pair of leather shoes the same style those I'm wearing.
A) like B) to C) as D) of
Einstein’s profound theory of relativity seemed at the time when he first introduced it.
A) incredible B) unquestionable C) inevitable D) indispensable
In China, women, men, have the right to vote.
A) but also B) the same as C) as well as D) not only
This is to be left until tomorrow.
A) such an important matter B) a too important matter
C) too important a matter D) quite an important matter
There were bad days, but it was a pleasant summer, .
A) by and large B) in that event C) by contrast D) in the meantime
Dorthy went to work quietly, to work as hard as she could.
A) her mind being made up B) with her mind made up
C) with her mind making up D) her mind making up

But for electricity, the whole world
A) would not have developed so rapidly B) had not developed so rapidly
C) did not develop so rapidly D) has not been developed so rapidly
. Whoever has real skills and knowledge should be properly treated and rewarded his educational back-
ground.
A) despite of B) regardless of C) let alone D) on account of

Considered an engineering marvel at that time, the bridge had the longest span in the U. S.
A) spectacle B) fantasy C) miracle D) illusion

All theories originate from practice and in turn serve practice.

A) stem from B) consist in C) exempt from D) result in
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Test 6

Directions ; There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B),

10.

11.

12.

13.

14.

15.

16.

17.

C) and D). Choose the ONE answer that best complates the sentence. Then mark the corresponding let-
ter on the Answer Sheet with a single line through the center .

. In logic, refers to the process of drawing a conclusion about an object or event that has yet to be ob-

served or occur, on the basis of previous observations of similar objects or events.

A) analogy B) metaphor C) deduction D) induction

. The dark and narrow streets were as the traveler wandered through the town.

A) remote B) isolated C) lone D) deserted

. In order to make more money, he not only washed the cars, but polished them

A) either B) else C) also D) as well

. He couldn’t find his key, with the door unlocked.

A) 0 leaving B) so left C) so he left D) left

. Ever since Picasso’s paintings went on exhibit, there large crowds at the museum every day.

A) have been B) has been C)is D) are being

. In the first several years of our economic reform, many factories for national defense have been into civil

ones in order to meet the needs of the country.
A) changed B) turned C) transformed D) alter

. You have done so much work that you are to pass the exam.
A) liable B) prone C) bound D) apt
. The fire-fighters should be prevent outbreaks of fire on the unburned side of the forest region.
A) attentive of B) alert to C) content with D) supposed to
. Some youth of today little about what really
A) know, they, want B) knows, it, wants
C) knows, he, wants D) has known, they, want
The parents asked every resident whether seen their lost son.
A) they have B) he had C) to have D) having
The bread my mother makes is much better than which you can buy at a store.
A) one B) those C) that D) the ones
I don’t think my furniture is the same as hers, ?
A) do you? B) don't 1 C) did I D) isn't it
Johnson’s new book is different from the previous one people aren’t interested in his theme.
A) in that B) by that C) on that D) at that
Language can be defined as a tool by which human beings with one another.
A) associate B) connect C) communicate D) correspond
People in every culture have basic needs but express them differently.
A) alike B) like C) same D) similar
I remember seeing him years ago, but I cannot where it was.
A) remind B) recall C) recognize D) memorize
The traditional approach with complex problems is to break them down into smaller, more easily man-
aged problems.
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18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

A) 1o dealing B) in dealing C) dealing D) to deal

Large amounts of waste gas the atmosphere has caused more serious air pollution.

A) given up B) given back C) given in D) given off

A lot of people complained that their foreign tour better organized.

A) had been B) might be C) could have been D) may have been

H we finish off with our work before ten, we'll have to be quick.

A) are to B) shall be to C) are about D) were to

They used more electricity than they . As a result, the might be cut off.

A) were entitled to, demand B) were entitled for, supply

C) were entitled to, supply D) were entitled for, demand

To them he was a beach-comber in constant need of money, remarkable only for the peculiarity that he

painted pictures which seemed to them absurd.

A) not more than B) no more than C) little more than D) few more than

AIDS, just like cancer, is a fatal disease.

A) hazardous B) global C) criminal D) deadly

The giant panda, a rare species found in provinces of western China, has resemblance to other bears in general ap-
pearance.

A) likelihood B) similarity C) distinction D) correlation

The speaker felt awkward when someone asked her a personal question.

A) restless B) clumsy C) reckless D) uneasy

I the letter when you arrive.

A) will be writing B) woule be writing C) write D) have written

She will have to to him, otherwise they will hear what she says.

A) shout B) whisper C) grunt D) cry

If you want you have to get the fund.

A) that job is done B) to have done the job C) the job done D) the job that is done
The designer believed that the hall being built can have a of holding 10000 people at least.
A) credibility B) capability C) capacity D) activity

Excuse me, do you mind the window?

A) 1 open B) that I open C) me to open D) if I open
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Test 7

Directions : There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B),

10.

11.

12.

13.

14.

15.

16.

i7.

C) and D). Choose the ONE answer that best completes the sentence. Then mark the corresponding let-

ter on the Answer Sheet with a single line through the center .

. By the end of this month, we surely a satisfactory solution to the problem.
A) have found B) will be finding C) will have found D) are finding
. Most people travelling in the course of their work are given travelling

A) income B) wages C) allowance D) pay
all that she had a good sense of direction, she couldn’t find out the primary school where she used to
study 40 years ago in the urban traffic map.
A) At B) For C) In D) On

. The village's wealth comes chiefly from its many

A) herd of cattle B) herd of cattles C) herds of cattle D) herds of cattles

. His success was largely his intelligence and persistence.

A) contributed to B) attributed to C) attracted to D) attached to

. John doesn’t understand you, because he knows English.

A) such litde B) so little C) a little D) some little

. Only by diligence and honesty .

A) can one succeed in life B) one can succeed in life

C) one will be succeeded in life D) can one be succeeded in life

. “You should put money in the bank.”

“It’s my money, I can do whatever I want with it.”

A) but B) o C) yet D) or
. He had an because he was driving
A) accident, fastly B) incident, fast C) accident, fast D) incident, fastly
Nuclear science should be developed to benefit the people .
A) more than B) other than C) rather than D) better than
Mr. Johnson preferred heavier work to do.
A) 1o be given B) to be giving C) to have given D) having given
Mr. John went ahead all wamnings about the danger of his mission.
A) regardless B) in case of C) regardless of D) prior to
In children’s minds summer is with picnics.
A) linked B) joined C) connected D) associated
Under no circumstances wage control while I am head of the government.
A) there will be B) will it be C) will there be D) we will have
San Francisco is usually cool in the summer, but Los Angeles .
A) is rarely B) rarely is C) hardly is D) is scarcely
30% of market capitalisation can charge in a single day.
A) As great as B) As more as C) As high as D)As much as
We are familiar with the idea all matter consists of atoms.

A) what B) for C) that D) of
13



